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Suppose program A takes 2°/1000 units of time and program B takes 1000n? units. For what values of n does program A
take less time than program B? '

List the nodes of the tree in the following figure in (a) preorder and (b) postorder.

10. The following figure is a truth table that defines two Boolean functions, a and b, in terms of variables p, g, and r. Write

sum-of-products expressions for each of these functions.

P g 1 a b
0 00| 01 )
0 0 1 11
0 1 0 0 1
0 1 1 0 0
1 0 0 1 0
1 01 1 0
1 1 0 10
1 11 1 0



